Figure S2: Schematic explanation of stall rate estimation

A
Estimation of apparent stall rate
Apparent stall rate was calculated from the unambiguous stall events (RUG and GUR) as explained in the text.
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we would calculate the stall rate as 50% since one fork is stalled however ideally there should be two (one fork which we can visualize and one which is stalled).
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Figure S2: Schematic explanation of stall rate estimation. (A) Estimation of apparent stall rate from unambiguous events. (B) Estimation of stall rate from all events — ambiguous as well as unambiguous events.




